R0015248 Line up slider units and mesh racks

Instructions to align slider units and mesh racks

@ Difficulty Hard ® Duration 6hour(s)

Contents

Introduction

Step 1 - Drive pinion mesh setting
Step 2 - Check for interferance

Step 3 - Set mesh

Step 4 - Repeat

Step 5 - Alignment

Step 6 - Set First and last position
Step 7 - Set Wire line

Step 8 - Adjust Remaining slide units
Step 9 - CAUTION!!!

Step 10 - Fit rack stop one D0015626-OH
Step 11 - Fit rack stop 2 D0015626

Comments

Introduction

Tools Required

Standard hex key set

Stubby hex key set

Wire line

Quick clamps

PO000501 nonreturn valve x 3
Standard HSS drill set
Standard tap set

Tape measure

300mm rule

Parts Required

D0015625x 1
D0015625-OH x 1
EO000336L x 2

Page 1/10



Step 1 - Drive pinion mesh setting

Mesh requires setting between slider unit and drive pinion
1 Itis vital that the correct drive meshing is achieved.

2 Once set, there should be 1mm movement in the direction shown, which will indicate the correct tooth meshing has been obtained.

3 This need to be checked at all points of travel as shown

Page 2/ 10


https://stuga.dokit.app/images/thumb/3/32/R0015094_Line_up_slider_units_and_mesh_racks_Screenshot_2023-06-13_110001.png/ia-53c6060177a1ad18e210d3c5ad40c2b0-1000px-R0015094_Line_up_slider_units_and_mesh_racks_Screenshot_2023-06-13_110001.png.png
https://stuga.dokit.app/images/thumb/6/61/R0015094_Line_up_slider_units_and_mesh_racks_Screenshot_2023-06-13_110129.png/ia-b35aaa948e2db05b45bea62775494520-1000px-R0015094_Line_up_slider_units_and_mesh_racks_Screenshot_2023-06-13_110129.png.png
https://stuga.dokit.app/images/thumb/6/61/R0015094_Line_up_slider_units_and_mesh_racks_Screenshot_2023-06-13_110129.png/ia-9bf6723d23831e1b91690a9f7684322d-1000px-R0015094_Line_up_slider_units_and_mesh_racks_Screenshot_2023-06-13_110129.png.png

Step 2 - Check for interferance

Once drive rack has been meshed, it is vital to check that clearance is present between rack and fixing for bearing block.

Area shown should be checked for clearance, if the fastener hits the drive rail, it should be spaced back with an M10 A form washer on the
indicated face to give clearance.

This must be checked on all drive racks

Step 3 - Set mesh

1 Slide drive pinion into position 1 under drive rack

2 Use M4 adjuster screws to adjust height of rack and Mé to secure

3 Slide out drive pinion and move rack to position 2. Refit drive pinion

4 Use M4 adjuster screws to adjust height of rack and Mé to secure

5 Repeat steps until correct meshing is present at all points indicated to check

Do Not glue any of the M4 /M6 socket caps used for adjustment as this will be done at a later stage

Page 3/10


https://stuga.dokit.app/wiki/Fichier:R0015248_Line_up_slider_units_and_mesh_racks_Screenshot_2023-10-09_110549.png
https://stuga.dokit.app/images/thumb/4/4d/R0015248_Line_up_slider_units_and_mesh_racks_Screenshot_2023-10-09_110525.png/ia-761ece77cb51e87389de0bc374ed958a-1000px-R0015248_Line_up_slider_units_and_mesh_racks_Screenshot_2023-10-09_110525.png.png
https://stuga.dokit.app/images/thumb/c/ca/R0015248_Line_up_slider_units_and_mesh_racks_Screenshot_2023-10-09_110930.png/ia-6961adc80623b7babaeeeb85de9a52ca-1000px-R0015248_Line_up_slider_units_and_mesh_racks_Screenshot_2023-10-09_110930.png.png

Step 4 - Repeat

Repeat step two for remaining 8 slider units

- T“‘\

Page 4/ 10


https://stuga.dokit.app/images/thumb/8/8a/R0015094_Fit_Slider_units_Screenshot_2023-06-13_101303.png/ia-19937adb062529306304a4f43e13e5c6-1000px-R0015094_Fit_Slider_units_Screenshot_2023-06-13_101303.png.png
https://stuga.dokit.app/images/thumb/b/bc/R0015094_Line_up_slider_units_and_mesh_racks_Screenshot_2023-06-13_104615.png/ia-938c467a4dfeadf621b7e84d7ba298db-1000px-R0015094_Line_up_slider_units_and_mesh_racks_Screenshot_2023-06-13_104615.png.png
https://stuga.dokit.app/images/thumb/1/14/R0015094_Line_up_slider_units_and_mesh_racks_Screenshot_2023-06-13_105730.png/ia-5bb2592eefde24c40b4fbdc1ea56a228-1000px-R0015094_Line_up_slider_units_and_mesh_racks_Screenshot_2023-06-13_105730.png.png
https://stuga.dokit.app/images/thumb/7/7e/R0015094_Line_up_slider_units_and_mesh_racks_Screenshot_2023-06-13_105832.png/ia-c8578f35b222d2265d3474f3de73f026-1000px-R0015094_Line_up_slider_units_and_mesh_racks_Screenshot_2023-06-13_105832.png.png
https://stuga.dokit.app/wiki/Fichier:R0015094_Line_up_slider_units_and_mesh_racks_Screenshot_2023-06-13_111442.png

Step 5 - Alignment

Alignment of cylinder pins is vital, and the following should be maintained
1 Alignment should be parallel to main hepco beam

2 Alignment should be Straight

To achieve this the following steps are required

to hepco bea

must be the sam
both ends at last

@ This
measuremen'
must be the
same as
other end

Page 5/ 10


https://stuga.dokit.app/images/thumb/a/a8/R0015094_Line_up_slider_units_and_mesh_racks_Screenshot_2023-06-13_112208.png/ia-eef7f7e2868d388820184a76a3092780-1000px-R0015094_Line_up_slider_units_and_mesh_racks_Screenshot_2023-06-13_112208.png.png
https://stuga.dokit.app/images/thumb/2/26/R0015094_Line_up_slider_units_and_mesh_racks_Screenshot_2023-06-13_112220.png/ia-d30d752614e9f574f59fc1e84a8e5058-1000px-R0015094_Line_up_slider_units_and_mesh_racks_Screenshot_2023-06-13_112220.png.png
https://stuga.dokit.app/images/thumb/2/2e/R0015094_Line_up_slider_units_and_mesh_racks_Screenshot_2023-06-13_112233.png/ia-6d67928837066297f4b3e18f83bba43e-1000px-R0015094_Line_up_slider_units_and_mesh_racks_Screenshot_2023-06-13_112233.png.png

Step 6 - Set First and last position

1 Set First and last slider into the position shown to align indicated hole with fixing point on support arm. Slide pinion into position once slider
has been moved to correct point.

2 Fine adjustment can be gained by Removing tension off Mé bolt on drive rail , and using slot to change position of drive rail mounting . Use
Socket cap bolt to lock position onto support arm

3 Check measurement between pin and hepco beam on both sliders to ensure they are the same.

Page 6 /10


https://stuga.dokit.app/images/thumb/4/47/R0015094_Line_up_slider_units_and_mesh_racks_Screenshot_2023-06-13_112312.png/ia-b0b7829a36fb16ec3a765b68e77b8134-1000px-R0015094_Line_up_slider_units_and_mesh_racks_Screenshot_2023-06-13_112312.png.png

Page 7/ 10


https://stuga.dokit.app/images/thumb/b/ba/R0015094_Line_up_slider_units_and_mesh_racks_Screenshot_2023-06-13_114059.png/ia-ce486253e4d897c1fd9a799c64247766-1000px-R0015094_Line_up_slider_units_and_mesh_racks_Screenshot_2023-06-13_114059.png.png
https://stuga.dokit.app/wiki/Fichier:R0015094_Line_up_slider_units_and_mesh_racks_Screenshot_2023-06-13_115316.png
https://stuga.dokit.app/wiki/Fichier:R0015094_Line_up_slider_units_and_mesh_racks_Screenshot_2023-06-13_115322.png

Step 7 - Set Wire line

Use dokit correct use of wire line to ensure alignment is completed correctly

1 Attach PO0O00501 non return valve with 6mm pipe to first and last cylinder and purge with air to maintain active position of cylinder.

2 Set wire line between these two active cylinders

Step 8 - Adjust Remaining slide
units

Remaining slide units now need adjusting to align to the wire line.
Adjust one at a time, and use a POO00501 non return valve and 6mm
pipe to purge each cylinder as you work on it. Once a cylinder is set,
remove non return valve and place on next cylinder being set

Step 9 - CAUTION!!!

..Until rack stops are fitted, it is possible to over position
slide units and they will run off drive pinions, and loose all
settings previously set. Take care and follow good practice

Page 8/10


https://stuga.dokit.app/w/index.php?title=Correct_use_of_wire_line&action=edit&redlink=1
https://stuga.dokit.app/images/thumb/4/41/R0015094_Line_up_slider_units_and_mesh_racks_Screenshot_2023-06-13_115118.png/ia-d702b362653fb0e381f51757f2edfae0-1000px-R0015094_Line_up_slider_units_and_mesh_racks_Screenshot_2023-06-13_115118.png.png
https://stuga.dokit.app/images/thumb/d/d8/R0015094_Line_up_slider_units_and_mesh_racks_Screenshot_2023-06-13_115247.png/ia-2bebcf67e9a8ad9121da2e77bea7ad34-1000px-R0015094_Line_up_slider_units_and_mesh_racks_Screenshot_2023-06-13_115247.png.png
https://stuga.dokit.app/wiki/Fichier:R0015094_Line_up_slider_units_and_mesh_racks_Screenshot_2023-06-13_115643.png
https://stuga.dokit.app/wiki/Fichier:R0015094_Line_up_slider_units_and_mesh_racks_Screenshot_2023-06-13_120542.png

Step 10 - Fit rack stop one D0O015626-OH

1 Assemble one off D015625 and 1 off D0015625 -OH as shown using a M6 x 25 hex set bolt and 2 Mé nuts.

2 Rotate drive shaft to position rack as show

3 Position rack stop as shown and mark, drill and tap to Mé . Ensure Mé hex set bolt is set as shown for maximum adjustment
Use M6 x 16 socket caps and A form washers to fix

Page 9/ 10



https://stuga.dokit.app/images/thumb/4/47/R0015094_Line_up_slider_units_and_mesh_racks_Screenshot_2023-06-13_112312.png/ia-8c0127948f828a83104e2c9651fa47cf-1000px-R0015094_Line_up_slider_units_and_mesh_racks_Screenshot_2023-06-13_112312.png.png
https://stuga.dokit.app/images/thumb/1/18/R0015094_Line_up_slider_units_and_mesh_racks_Screenshot_2023-06-13_120513.png/ia-d5fe1822deb7d69c2afd9e30005d4e82-1000px-R0015094_Line_up_slider_units_and_mesh_racks_Screenshot_2023-06-13_120513.png.png
https://stuga.dokit.app/images/thumb/d/d9/R0015094_Line_up_slider_units_and_mesh_racks_Screenshot_2023-06-13_121424.png/ia-919fdb86c614aeaea8ff99b6817aefa8-1000px-R0015094_Line_up_slider_units_and_mesh_racks_Screenshot_2023-06-13_121424.png.png
https://stuga.dokit.app/images/thumb/b/b6/R0015094_Line_up_slider_units_and_mesh_racks_Screenshot_2023-06-13_122851.png/ia-6fd2767e42221d783281cbad9f41e2ca-1000px-R0015094_Line_up_slider_units_and_mesh_racks_Screenshot_2023-06-13_122851.png.png
https://stuga.dokit.app/images/thumb/3/3f/R0015094_Line_up_slider_units_and_mesh_racks_Screenshot_2023-06-13_122857.png/ia-ff6a3ba5e168bb71da182964f8350840-1000px-R0015094_Line_up_slider_units_and_mesh_racks_Screenshot_2023-06-13_122857.png.png

Step 11 - Fitrack stop 2 D0O015626

1 Use assembled rack stop from previous step

2 Rotate drive shaft to position rack as show
3 Position rack stop as shown and mark, drill and tap to Mé . Ensure Mé hex set bolt is set as shown for maximum adjustment
Use M6 x 16 socket caps and A form washers to fix

Page 10/ 10


https://stuga.dokit.app/images/thumb/c/c7/R0015094_Line_up_slider_units_and_mesh_racks_Screenshot_2023-06-13_124152.png/ia-dcebc3d4348da398bba24b8e1cf5342f-1000px-R0015094_Line_up_slider_units_and_mesh_racks_Screenshot_2023-06-13_124152.png.png
https://stuga.dokit.app/images/thumb/4/44/R0015094_Line_up_slider_units_and_mesh_racks_Screenshot_2023-06-13_124551.png/ia-2551004fe73eec4482e16f4a54c4d6bd-1000px-R0015094_Line_up_slider_units_and_mesh_racks_Screenshot_2023-06-13_124551.png.png
https://stuga.dokit.app/images/thumb/1/16/R0015094_Line_up_slider_units_and_mesh_racks_Screenshot_2023-06-13_124605.png/ia-c291e8d54ca1d6ec67375250075310e1-1000px-R0015094_Line_up_slider_units_and_mesh_racks_Screenshot_2023-06-13_124605.png.png

	R0015248 Line up slider units and mesh racks
	Contents
	Introduction
	Step 1 - Drive pinion mesh setting
	Step 2 - Check for interferance
	Step 3 - Set mesh
	Step 4 - Repeat
	Step 5 - Alignment
	Step 6 - Set First and last position
	Step 7 - Set Wire line
	Step 8 - Adjust Remaining slide units
	Step 9 - CAUTION!!!
	Step 10 - Fit rack stop one D0015626-OH
	Step 11 - Fit rack stop 2 D0015626


